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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

X 1- That shy ......... young man had turned into a confident adult.
1) expressive 2) shameless 3) reserved 4) self-assured
W 2- Students in colleges ......... a wide age range and exhibit very varying academic abilities and
communication skills.
1) encompass 2) obtain 3) insert 4) distinguish
=\ 3- Wanting to make a good impression, he found himselfin a ......... about the right color suit to wear to
the business meeting.
1) repute 2) quandary 3) priority 4) deficiency
TR 4- Ted fell asleep during the movie because it had a very ......... plot.
1) impure 2) monotonous 3) controversial 4) invalid
R 5- After running an early 5K race, Simone ......... devoured hearty breakfast.
1) generously 2) beneficially 3) voraciously 4) dramatically
X 6- Heavy rains in March ......... the drought conditions.
1) alleviated 2) revealed 3) accelerated 4) envisioned
¥ 7- He argued that he was not ......... because there was other work available within the terms of his
contract of employment.
1) clumsy 2) sluggish 3) diligent 4) redundant
X 8- The ......... of the monument took five years to complete.
1) enforcement 2) restoration 3) compelled 4) imposed
A 9- He was found guilty and ......... to life imprisonment.
1) accused 2) convicted 3) invasion 4) improvisation
A 10- The entire east wing of the building was ......... in the fire.
1) renovated 2) aggravated 3) demolished 4) prohibited

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Cinematographers remain virtually unknown outside motion — picture industry...(11)... their contribution
sometimes matches that of the director ...(12)... . Although the director has ultimate control over the visual image,
the cinematographer actually records that image on film, ... (13)... the director’s ideas and creating the atmosphere
and the look of the film. The association between the cinematographers and the processing laboratory is also
highest importance because the cinematographer often spends hours...(14)... after shooting, checking the negative.
On most feature films a camera team, ...(15)... of a director of photography, cameraman, shares the
responsibilities.
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=D 11- 1) even though 2) such as 3) despite 4) since
W 12- 1) is important 2) of importance 3) with importance 4) and its importance
& 13- 1) translates 2) to translate 3) he translates 4) translating
R 14- 1) for them 2) and right 3) there 4) and
T 15- 1) it often consists 2) which is often consisted
3) that consisting often 4) often consisting

PART C: Reading Comprehension
Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4). Then mark in on
your answer sheet.

Passage 1:

The rise of multinational corporations, global marketing, new communications technologies, and shrinking cultural
differences have led to an unparalleled increase in global public relations or PR.

Surprisingly, since modern PR was largely an American invention, the U.S. leadership in public relations is being
threatened by PR efforts in other countries. Ten years ago, for example, the world’s top five public relations
agencies were American-owned. In 1991, only one was. The British in particular are becoming more sophisticated
and creative. A recent survey found that more than half of all British companies include PR as part of their
corporate planning activities. Compared to about one-third of U.S. companies. It may not be long before London
replaces New York as the capital of PR.

Why is America lagging behind in the global PR race? First, Americans as a whole tend to be fairly provincial and
take more of an interest in local affairs. Knowledge of world geography, for example, has never been strong in this
country. Secondly, Americans lag behind their European and Asian counterparts in knowing a second language.
Less than 5 percent of Burson-Marshall’s U.S. employees know two languages. Ogilvy and Mather has about the
same percentage. Conversely, some European firms have half or more of their employees fluent in a second
language. Finally, people involved in PR abroad tend to keep a closer eye on international affairs. In the financial
PR area, for instance, most Americans read the Wall Street journal. Overseas, their counterparts read the Journal as
well as the Financial Times of London and The Economist, publications not often read in this country.

Perhaps the PR industry might take a lesson from Ted Turner of CNN (Cable News Network). Turner recently
announced that the word “foreign” would no longer be used on CNN news broadcasts. According to Turner, global
communications have made the nations of the world so interdependent that there is no longer any such things as foreign.

W 16- According to the passage, U.S. leadership in public relations is being threatened because of ......... .
1) an unparalleled increase in the number of public relations companies
2) the decreasing number of multinational corporations in the U.S.
3) increased efforts of other countries in public relations
4) shrinking cultural differences and new communications technologies

. 17- London could soon replace New York as the center of PR because ......... .
1) four of the world’s top public relations agencies are British-owned
2) British companies are heavily involved in planning activities
3) British companies are more ambitious than U.S. companies
4) British companies place more importance on PR than U.S. companies

A 18- The word “provincial” (Paragraph 3) most probably means ......... .

1) like people from the provinces 2) limited in outlook
3) rigid in thinking 4) interested in world financial affairs
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2 19- We learn from the third paragraph that employees in the American PR industry ......... .

1) are not as sophisticated as their European counterparts

2) speak at least one foreign language fluently

3) are ignorant about world geography

4) enjoy reading a great variety of English business publications

R 20- What lesson might the PR industry take from Ted Turner of CNN?

1) American PR companies should be more internationally-minded.

2) People working in PR should be more fluent in foreign languages.

3) People involved in PR should avoid using the word “foreign”.

4) The American PR industry should develop global communications technologies.

Passage 2:

For any given task in Britain there are more men than are needed. Strong unions keep them there in fleet Street,
home of some London’s biggest dailies, it is understood that when two unions quarrel over three jobs, the argument
is settled by giving each union two. That means 33 percent over manning, 33 percent less productivity than could
be obtained.

A reporter who has visited plants throughout Europe has an impression that the pace of work is much slower here.
Nobody tries too hard. Tea breaks do matter and are frequent. It is hard to measure intensity of work, but Britons
give a distinct impression of going at their tasks in a more leisurely way.

But is all this so terrible? It certainly does not improve the gross national product or output per worker. Those
observant visitors, however, have noticed something else about Britain. It is a pleasant place.

Street crowds in Stockholm. Paris and New York move quickly and silently heads down, all in a hurry. London

crowds tend to walk at an easy pace (except in the profitable, efficient City, the financial district).

Every stranger is struck by the patient and orderly way in which Britons queue for a bus: if the saleswoman is slow
and out of stock she will likely say, ‘oh dear, what a pity’; the rubbish collectors stop to chat and call the
housewives “Luv.” Crime rises here as in every city but there still remains a gentle tone and temper that is
unmatched in Berlin, Milan or Detroit.

In short, what is wrong with Britain may also be what is right. Having reached a tolerable standard, Britons appear
to be choosing leisure over goods.

2 21- What happens when disputes over job opportunities arise among British unions?

1) More people will be employed than necessary.

2) More jobs will be created by the government.

3) The unions will try to increase productivity.

4) Thirty three percent of the workers will be out of work.

TR 22- What does the reporter who has visited plants throughout Europe think about Britain?

1) Tea breaks do not affect the intensity of work in Britain.

2) Britons do their work in an unhurried sort of way.

3) Britons give the impression of working intensively.

4) The pace of work in Continental Europe is much slower than in Britain.

T 23- “Tea breaks matter” (Paragraph 2) indicates that ......... .

1) they help the workers to be on good terms with each other

2) they are an important aspect of the British way of life

3) they are greatly enjoyed by British workers

4) they can be used by the workers as an excuse to take time off from work
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W 21- According to paragraph 1, the heightened emphasis on contextual influences ............. .

1) is a reason why management is regarded as a science

2) has led to the involvement of more artists in management

3) is a reason why the central focus of management researchers is on conducting statistical analysis
4) is due to the increased ability to work with more complex models of behavior

& 22- It can he inferred from paragraph I that in order to understand behavior, management researchers

----------

2) mostly focused on outcomes in the past
3) should exclude individual, social, and political factors
4) focus on improving their understanding of how society functions as a whole

T 23- According to the p-n-fit model, when is an employee most satisfied with her .job?

1) When there is a. good match between her and the culture of the organization
2) When valid selection tests are used to make sure her skills fit the job

3) When her performance is appreciated by the organization

4) When the salary fits her expectations

T2\ 24- The word "assessment" in paragraph 2 is closest in meaning to ............. .
1) recognition 2) evaluation 3) enhancement 4) overestimation
W 25- According to the passage, adding contextual factors to management research implies that ........... .

1) art is an essential feature of management

2) management research is getting too complex and impractical

3) certain principles and specifications should guide management
4) the sociopolitical context should influence managerial decisions

PASSAGE 3:

Given the speed at which their workers are glowing greyer, employers know surprisingly little about how
productive they are. The general assumption is that the old are paid more in spite of rather than because of their
extra productivity. That might partly explain why, when employers are under pressure to cut costs, they persuade
the 55-year-olds to take early retirement. Earlier this year, Sun Life of Canada, an insurance company, announced
that it was offering redundancy to all its British employees aged 50 or over to bring in new blood".

In Japan, says Mariko Fujiwara, an industrial anthropologist who runs a think-tank for Hakuhodo, Japan's
second-largest advertising agency, most companies are bringing down the retirement age from the traditional 57 to
50 or thereabouts - and in some cases, such as Nissan, to 45. More than perhaps anywhere else, pay in Japan is
linked to seniority. Given that the percentage of workers who have spent more than 32 years with the same
employer rose from 11% in 1980 to 42% by 1994, it is hardly surprising that senioritybased wage costs have
become the most intractable item on corporate profit-and-loss accounts.

Clearly, when older people do heavy physical work, their age may affect their productivity. But other skills
may increase with age, including many that are crucial for good management, such as an ability to handle people
diplomatically, to run a meeting or to spot a problem before it blows up. Peter Hicks, who co-ordinates OECD
work on the policy implications of ageing, says that plenty of research suggests older people are paid more because
they are worth more.

And the virtues of the young may be exaggerated. The few companies that have kept on older workers find
they have good judgment and their productivity is good," says Mr. Peterson, "Besides, their education standards are
much better than those of today's young high-school graduates." Companies may say that older workers are not
worth training, because they are reaching the end of their working lives: in fact, young people tend to switch jobs
so frequently that they offer the worst returns on training. "The median age for employer-driven training is the late
40s and early 50s, "says Mr. Hicks. “It goes mainly to managers.”
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R 26- Which paragraph or paragraphs present information that supports the assumption put forward in
paragraph 1?

1) Paragraph 2 2) Paragraphs 2 and 3

3) Paragraphs 2 and 4 4) Paragraphs 3 and 4

TR 27- Which of the following is true about Sun Life of Canada?

1) It offered liktime insurance to all its British employees.

2) It asked the older British employees to stop bloodshed.

3) It preferred employing younger staff over keeping the older ones.

4) It announced that it would hire Canadian employees over British ones.

R 28- According to paragraph 2, the main reason why Japanese companies prefer to reduce the retirement

age is to

1) cut costs 2) get more productive

3) motivate their employees 4) provide employment opportunities for the youth
TR 29- According to paragraph 3, the elder employees ............. .

1) are generally less productive
2) are less capable of identiiYing problems
3) generally have higher management skills
4) should be paid more even if the job involves physical work
R 30- According to Mr. Peterson, what are two weaknesses that younger people have in the workplace?

1) have relatively poor education and low productivity.

2) They have relatively poor education and arc more likely to change jobs.

3) They are normally high-school graduates and are more likely to chmige jobs.
4) They arc normally high-school graduates and their training does not yield good results.
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